A BZEO0HQIDt
M HAE LSME BH(AS =X/l - BAad)
el LolgXiel &M ASEE CERED)
_ — Pl
A SA(EH) - MRAY - BAS of &t St HI DS
A2 Z0H It 522,446,135 511,797,763 10,648,372
= 452,005,317
J| 1,680,844
c 68,759,974
HAS SSME B (AMSI=ER/ 0 - HAH) 432,742,304 423,396,833 9,345,471
= 377,063,648
7 1,566,684
c 54,111,972
Lolgdite s ASEE 22,507,773 20,612,978 1,894,795
= 18,854,402
c 3,653,371
ColdTtelArE (=) 22,507,773 20,302,578 2,205,195
=2 18,854,402
[ 3,653,371
101 2124 36,346 25,557 10,789
= 10,506
= 25,840
03 RIAHAZZRE 4 36,346 25,557 10,789
OLQldXtel MEolad ol 36,346
= 10,506
= 25,840
307 2IZt0I A 83,711 11,990 71,721
= 41,856
[ 41,855
10 ALRISEXAIEHE2EHIEX 83,711 11,990 71,721
OZRLIHYAIE(=1) 83,711
= 41,856
[ 41,855
308 At XIHHMSOIH 22,387,716 20,265,031 2,122,685
= 18,802,040
c 3,585,676
01 AXHMBLAEES 22,387,716 20,265,031 2,122,685
O+ ¥ 2UAY| 21,514,056
= 17,928,380
c 3,585,676
O=gl|la MgelA 839, 195
= 839,195
OAIZEAIY QIHEIE X 34,465
= 34,465
100MIAICH, OHE AL X2 AL 4,444,863 0 4,444 863
(BZE)I00MAILE HHEA LRt 3,245,863 0 3,245,863
308 RXISHHMSOIH 3,245,863 0 3,245,863
01 AXSHBLAEERS 3,245,863 0 3,245,863
O ZAtel At 3,245,863




SN ARBOND
I AYS CEME BI(MSEX/0 - Hh

m

)

2l 100MIAITH, 28 Xtel AL (el &)
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
(L E)I00HAILE HHEA LRt 51,800 0 51,800

201 Y EH2 | 5,000 0 5,000
01 AtR2t2ltl 5,000 0 5,000
orelgdiiel E2=2 M 2,000
OQIE M= 3,000
307 2I2+0I A 46,800 0 46,800
02 QB AMAHEE 46,800 0 46,800
O2ZJ& X2 & &sHIXd 46,800
(CIE1E) 100MIAITH =41 Y Xtel 592,200 0 592,200
307 212+0I ™ 592,200 0 592,200
02 QIZtAAMAIDE X 592,200 0 592,200
Ol & 2HII& XNE= 592,200
(S3HE)100MAIH HHEALREE 500,000 0 500,000
308 AtXIHHSOIH 500,000 0 500,000
01 IXEHBAEES 500,000 0 500,000
Sste g2l ALY 500,000
100MIAICH 24 X2l AFY IS 55,000 0 55,000
201 YEr2 ] 5,000 0 5,000
03 HAH2ZHI 5,000 0 5,000
O aLdXtel AHY EIHE 5,000
403 MRS S AHE01 A 50,000 0 50,000
01 AXSHMA2E R 50,000 0 50,000
O aIdXtel AHE AlZ &AL HI 50,000
CEMEEEN ASIEN = 363,854,638 363,116,208 738,430
= 342,170,078
= 21,684,560
COIXNER I 23t 83,000 116,700 A33,700
307 glz2tol & 83,000 63,000 20,000
03 BN ER2IHIEXR 83,000 63,000 20,000
OAMSIEH 228l X2 (tHet=01g]) 83,000
LOBSHERI A (1) 892,212 623,360 268,852
= 446,106
T 446,106
307 212+0I A 892,212 623,360 268,852
= 446,106
< 446,106
10 AISIZEXANEHE2EHEX 892,212 623,360 268,852
okeoEsd=zl|2 249 892,212
= 446,106
T 446,106




S M
I‘Iil-l:
C}Ol:

()
=
re

ot
ME DE(AS =X /L0l

o=

ot ASIE0 =

FoorY oy
H0i 0% Hu
0% ror ox
-
b

e
H

- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
StiHTloi =0 Ml N3 (=21) 173,500 174,820 21,320
=2 86,750
& 86,750
307 QI2+0I A 173,500 174,820 A1,320
=2 86,750
& 86,750
10 ASISXANEHER2ZHEX 173,500 174,820 A 1,320
ostiimoi=ol MEHE XNA(=1) 173,500
=2 86,750
& 86,750
Z2E 2 g4d3 N& 4,786,022 4,139,824 646,198
308 At XIHHSOIH 2,731,022 2,694,824 36,198
01 IXEHBAEES 2,731,022 2,694,824 36,198
oZdzg 294| XN& 2,547,062
Od2Y 3Tz )3 22X XA 89,280
OZ2Y T2 234| XA 94,680
403 MRS S AH=01 A 2,055,000 1,445,000 610,000
01 AXESHMA2EZR 2,055,000 1,445,000 610,000
oOkL: 8 Z2Y JIsEZ N& 2,055,000
LololoHEa ¥ s=23 e 195,500 297,028 A 101,528
201 YEr2 ] 8,000 20,828 AN 12,828
01 At 2teltl 8,000 10,828 A2,828
OLe=lDlz 28 S LUSTAY =& 7,000
ORAYESAH & HAKXNEZA XH2E &2 1,000
202 ¢4l 14,000 24,000 A 10,000
01 =LHOYI 14,000 24,000 A 10,000
OLololEzd ¥ E=23 B F&A 8,000
OL2=XAE & BIQUAMY =& 6,000
307 212+0I A 14,000 4,000 10,000
04 DIZFEHALALSE 2 = 10,000 0 10,000
OUHOIY J18 ZZ2&& &AL 10,000
M ARISXAIEE X 4,000 4,000 0
OX= LXK SA HEH &It X2 4,000
308 AtXIHHSO0IH 159,500 248,200 A88,700
01 IXEHBEAELS 159,500 248,200 A 88,700
OokLeloY I8 & JAANHZ N SItE=EN 20,000
OLQltHe 24 Z28H| XI& 94,500
o= XI& 45,000
Lol E3=0 K 164,000 201,600 A 37,600
308 At XIHHSOI& 164,000 201,600 A 37,600




SN Z2H0H
HE: AU LEME BH(ASZX/ Q- HAW)
SIS A0 = ?HA)
_ - &4
I3 G9I(3) - MRAY - A Of &r St 52
01 HIXHMBYEES 164,000 201,600 A37,600
O&==g A& 164,000
Jlz=e=(=1) 357,265,787 357,266,416 A629
= 341,499,159
= 15,766,628
308 AXIHMSO0IH 357,265,787 357,266,416 A629
= 341,499,159
= 15,766,628
01 HIXHMBYELS 357,265,787 357,266,416 2629
OJlzg=s N 357,265,787
= 341,499,159
= 15,766,628
2g ZAXAAH K& (=1) 276,126 281,250 A5, 124
= 138,063
= 138,063
307 212tol & 276,126 281,250 A5, 124
= 138,063
= 138,063
10 ASAANEEE2EHEX 276,126 281,250 A5,124
OZ2Y ZARNEHH XA (=1) 276,126
= 138,063
= 138,063
NIl - 580 SHE s&8=s X3 18,491 15,210 3,281
308 AXIHMSO0IH 18,491 15,210 3,281
01 HXSHMBMEXS 18,491 15,210 3,281
O=MI| - BEJl S akg=s NE 18,491
cololg - SXNAE &5 34,354,448 32,714,393 1,640,055
= 10,915,168
7 1,566,684
S 21,872,596
COIMEAE 2EAE 20,316,751 21,046,000 ANT29,249
308 AXIHMSOIH 20,316,751 21,046,000 ANT29,249
01 IXHMBSEXS 20,316,751 21,046,000 ANT29,249
O QMEANLE 2HAE 20,316,751
LOISTIAIE JIsB2(=2) 1,823,223 1,687,799 135,424
= 1,519,353
T 303,870
403 AHRISHS K201 1,823,223 1,687,799 135,424
= 1,519,353
T 303,870
01 HXSHHMA=Ex 1,823,223 1,687,799 135,424
OL=XANE JIsEZ 1,823,223
= 1,519,353
T 303,870




A ZZ2E0H Dt
HE: AYS LEME BH(AISEX/ L0 - HaW)
el LOIoR - XA 2B EERED
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
LO=SHAE JIs2H 130,000 50,000 80,000
403 A XISHHSX=01H 130,000 50,000 80,000
01 AXISHMA=E X 130,000 50,000 80,000
OLQNII=EXNALE JIsE2 30,000
Okolwal W= 100,000
Lolss MHIA(=1) 8,165,143 6,982,046 1,183,097
= 7,520,526
= 644,617
308 XHXIHMSOIH 8,165,143 6,982,046 1,183,097
= 7,520,526
o= 644,617
01 UAXSHHBAEES 8,165,143 6,982,046 1,183,097
OLlssAMEIA MBS 8,165,143
= 7,520,526
= 644,617
SHkol S3otd S801 AE(=21) 1,880,021 1,210,394 669,627
Il 1,566,684
= 313,337
308 XHXIHMSOIH 1,418,681 861,914 556,767
| 1,182,234
& 236,447
01 UAXSHHBAEES 1,418,681 861,914 556,767
O=AHto SsSUdES20 2ENA 1,418,681
Il 1,182,234
= 236,447
403 A XISHHSX=01H 461,340 348,480 112,860
Il 384,450
= 76,890
01 IXIESMAEE X 461,340 348,480 112,860
O=Hce SSd S2E0IMY AIAE 25 461,340
Jl 384,450
= 76,890
ORI QY2 KGASIRHAA (=) 34,459 34,459 0
= 28,716
= 5,743
308 XtXIEHMS0IH 34,459 34,459 0
= 28,716
= 5,743
01 UAXSHHBAEES 34,459 34,459 0
OMHIIEII LRI 2 KIS A2 A3 HAH XA 34,459
= 28,716
= 5,743
AZAE 2ERA(22) 2,004,851 1,703,695 301,156
= 1,846,573
= 158,278




SA:
X ZH -
[

ek

(&4

- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
308 AtXIEHMSOIH 2,004,851 1,708,695 301,156
= 1,846,573
= 158,278
01 IXSHMBSEES 2,004,851 1,708,695 301,156
OZZAE 2AH 2,004,851
= 1,846,573
= 158,278
SO 2 FAMAE EE 5,575,400 5,299,233 276,167
= 5,124,000
= 451,400
FAAE &F5(=1) 5,575,400 5,299,233 276,167
= 5,124,000
= 451,400
403 MRISHSA201A 5,575,400 5,299,233 276,167
= 5,124,000
= 451,400
01 XS ExE 5,575,400 5,299,233 276,167
OFAAIE &E(=21) 5,575,400
= 5,124,000
= 451,400
SAAE 28 A& 2,005,182 1,654,021 351,161
AZISXAIE 2 1,996,704 1,644,264 352,440
307 212t01 & 186,120 186,120 0
AR SAAIE 22 186,120 186,120 0
Ok M=XAE SAN SX=E 186, 120
308 AtXIEHMSOIH 1,810,584 1,458,144 352,440
01 HXSHMBMEXS 1,810,584 1,458,144 352,440
OAlZ ==TAE SAL SX+E 1,438,416
OAlZ ZMHASIIAIE SAHL SX+E 372,168
LosX 33 =M 4,428 1,757 2,671
301 2etE &= 4,428 1,757 2,671
B A=ERREEAS 4,428 1,757 2,671
OMI=ERRREIBAZ 4,428
A2l S XIAIE &It 4,050 8,000 A3,950
201 224l 4,050 8,000 A3,950
01 Ab=22keldl 4,050 8,000 A3,950
OAMEBISXIAIE BIHEOMHASIIAIL) 4,050
=X NS SE(AMSISX/FHAHSKH) 89,669,641 88,365,730 1,303,911
= 74,941,669
D) 114,160
= 14,613,812
UL =NAE 25 & 29 34,101,733 31,655,375 2,446,358




SA:

I‘I il-l:

Cl— 0|

D HMA=EXIAIAE

22 Eojel
ZOHCI=X AMEE S5 (A
25 9

=

SX/HAHERNE)

02 tor

(=}
[

(&4

A" G(3) - MPAY - B Ofl &t e HIDE2
= 75,002,677
| 114,160
& 8,084,896
HOJAA &= =& 674,363 508,435 165,928
201 LBt 7,000 7,000 0
01 At 22l bl 7,000 7,000 0
OOl & & F2HSMAIFA 2,000
OQXZMeI=XAAS 22 4,000
OZOHLI=XIHE SALL ASAZS 1,000
202 oddl 7,000 12,100 A5,100
01 SLHOYI 7,000 12,100 A5,100
oZMA=XNSE ¥ MHHHA K& =& 7,000
301 L2 A3 3,300 3,300 0
09 HAAHIZ &3 3,300 3,300 0
OXOMHISXHE SALA H&s| AR 24 3,300
307 S12+0I & 288,675 283,715 4,960
11 A SXAMEEXS 288,675 283,715 4,960
Q&N AMNH Y 59,740
OQZOHeIBIASAtA 2 45,730
OsHZSEE Mz XNS HYANE &= 12,250
OZ Ol HOAALX MY 29 125,955
OZOHCIHSJAIZ AN EREH 2 45,000
308 KX SHXI S0l & 228,388 202,320 26,068
01 AXSHMBAELS 228,388 202,320 26,068
OAZEHAALAXZAME =II4XH XA 20,000
OAl HOHQIBIZSAA 2 208,388
403 XSS AHE201H 140,000 0 140,000
01 AXSHMA2E T 140,000 0 140,000
O=RXAL JIsEZ 70,000
OZ0el olsEH =& 70,000
ZACHEYE SSWEZZH 29 (22 142,700 117,702 24,998
| 114,160
& 28,540
307 SIZt0I A 142,700 117,702 24,998
| 114,160
& 28,540
10 ASISEXANEHE2IHIEX 142,700 117,702 24,998
OZATMEYER SSMEZZ]H 2HX& 142,700
| 114,160
& 28,540
ZOHC THEXIJHEH 29 373,818 367,964 5,854




SA:

204t

FH: HOISX AEHE SH(MISX/HSAHSKH)
ool BOHQISTAIL 25 U 29 (S91:&8)
- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
307 2IZ2t0I A 267,918 265,148 2,770
11T AL S XA E X 267,918 265,148 2,770
OAAZOHI A XNAEH 2 31,000
OXHZ0HQ HEXAME 24 37,000
OYA=43252 29 60,770
OXZEZOQ TEXAMYH 29 139,148
308 KX SHH SOl 105,900 102,816 3,084
01 AXHMBLAEES 105,900 102,816 3,084
QAIZZOQl TUHE XM 29 105,900
HOHel H23 =& 130,380 130,380 0
307 2IZ2t0I A 130,380 130,380 0
1 ARISXAIEE X 130,380 130,380 0
OZOEEs K& 16,000
OFMHIEESIXIANMEYE 2 114,380
ool MAMEAE 2 419,310 393,310 26,000
307 QI2+01 A 419,310 393,310 26,000
10 ASISEXANEHE2IHEX 419,310 393,310 26,000
OsiHedEsHAE 29 220,080
OsEIEsHUHEH 249 199,230
ZOHQ XIHAIZTHEAIE 2L 2,598,763 2,726,960 AN128,197
201 LB 3,000 3,000 0
01 At 22|l 3,000 3,000 0
OZOLU=XIAIE SALL ASAES 3,000
202 (44l 6,600 10,000 A3,400
01 SLHOYI 6,600 10,000 A3,400
OZHCIME X AMER2E NE FH 6,600
301 YetB A= 6,000 6,000 0
09 HAAHIE &3 6,000 6,000 0
OXOHCISXIAIE SALAF H&3| AR 2 6,000
307 SIZ2t0I A 2,583,163 2,547,960 35,203
10 ALRISEXAIEHE2IHIE X 2,583,163 2,547,960 35,203
OFXNEZAR 23 76,000
OFel AREHMH 29 237,810
OsdtLiel=2tE2s A 29 108,860
Ok ==3t=%4dH 29 206,974
OZEEHMHASE=X2 2L 1,719,138
O MHAMII=ZXHH 29 125,810
OMetM=2tES A 29 108,571
HOHCIAFAIE 2EAA 25,415,925 24,065,260 1,350,665




A ZZ2E0H Dt

o ZOOIZX AEE SH(ASSX/FHAHST)
ol ROHQIZTIAL 2HE L 2 (el @)
_ _ PoRE]
SA - FHM . (3H) - NRAY - B Off At o om‘@o% HR=2

= 22,812,268
= 2,603,657

307 2I12H0| & 256,960 250,960 6,000

10 AISIE XA EHASIHIEXR 256,960 250,960 6,000
OZ&e! stLgIHIIBES A 29 142,320
OZHQl 2=SMEDIIH (oILIRIoE) 29 46,880
OZNQ 2=SAMEIIHE (0, 0H) =24 67,760

308 XAHXISHISOIA 25,158,965 23,814,300 1,344,665
= 22,812,268
== 2,346,697

01 MIXISHEBALEXZ 25,158,965 23,814,300 1,344,665
OZOI HFAIE 22 Aol X 111,360
OZOCIMEAIE 2HXS 280,000
OFUHZ=AIE 2R (AZ) 24,767,605
= 22,812,268
= 1,955,337

ZIOHQIEATHEIAI A JDISEZAIYE(=1) 110,098 240,045 N129,947
= 59,280
= 50,818

402 It X0l M 94,382 0 94,382
= 47 191
= 47 191

01 QIZIXIE2AIE E X 94,382 0 94,382
OZOHOI MALSEHOHAIE Xt 94,382
= 47,191
= 47 191

403 XXM S X201 15,716 240,045 A 224 329
= 12,089
= 3,627

01 XMIXIESH A28 X 15,716 240,045 A 224 329
O AEITHEAE JIsELALS 15,716
= 12,089
°c 3,627

ZHOHQI HT=AIE JDISEZAIYE(=Z1) 3,537,978 2,556,929 981,049
= 2,713,829
= 824,149

403 XXM S X201 3,537,978 2,175,929 1,362,049
= 2,713,829
= 824,149

01 XMIXIESH A28 X 3,537,978 2,175,929 1,362,049
OHMLAHFTAIE JIsELALS 3,527,978
= 2,713,829
°c 814,149
OFFolOIREHI I ESA JsEL 10,000

SOHERQ FUNE AL (21) 190,190 190, 190 0




SA:

204t

A ZOHAUSEX AEE SH(AMSSX/FHAAHSXH)
ol ROHQIZTIAL 2HE L 2 (el @)
- _ PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
= 146,300
o= 43,890
403 MRS S K201 A 190,190 190,190 0
= 146,300
o= 43,890
01 AXISHMA=E XL 190,190 190,190 0
Os0HE O FEHOHE 190,190
= 146,300
o= 43,890
STHQ HSHSAHAMSE(ZD) 222,300 234,000 A11,700
= 171,000
o= 51,300
308 RHXISHMSOIH 222,300 234,000 A11,700
= 171,000
o= 51,300
01 IXEHBEAELS 222,300 234,000 211,700
OSZSHM NSHMHETA 222,300
= 171,000
o= 51,300
Zopel Az 23 73,800 96,200 A22,400
308 XHXIHMSOIH 73,800 96,200 A22,400
01 UAXSHMBAEES 73,800 96,200 A22,400
oz M27=E K& 52,800
OZ el orst =94 21,000
O =XNAIE 23 S MwSF 10,000 28,000 A 18,000
307 2I2+0I A 10,000 28,000 A 18,000
" AMSISIIAMSEE 10,000 28,000 A 18,000
OXZMeI=2X2d C-XEC|8 FHUF 10,000
ZEEHEERAIISEZAE 202,108 0 202,108
402 QIZHHE0I A 202,108 0 202,108
01 QIR EAEEX 202,108 0 202,108
OZATHEHAIsELAMY 202,108
SOl MEory o MEXR 55,197,968 56,317,780 A1,119,812
= 48,931,192
= 6,266,776
ZOHR JI=MEEE XA 103,800 107,000 A3,200
308 XHXISHMSOIH 103,800 107,000 A3,200
01 UAXSHMBAEES 103,800 107,000 A3,200
OFHe HI=We=Hl XI& 27,200
OFe R34 X 52,800
OO AHHA X 23,800
ool AtElES XAME (=) 14,892,416 13,644,544 1,247,872




A ZZ2E0H Dt
A=A A
510

|
ol mONQIMEOIE U THEXY (= RED

= = — AN L=
A" G(3) - MPAY - B Ofl &t e HIDE2
= 13,716,698
= 1,175,718
308 A XISHH SOl 14,892,416 13,644,544 1,247,872
= 13,716,698
= 1,175,718
01 AXHMBLAEES 14,892,416 13,644,544 1,247,872
OFOHC! At3lE8 s XIJMZ 14,892,416
= 13,716,698
= 1,175,718
SESHH 252X XA 164,520 170,252 ANb,732
308 AHXISHH SOl 164,520 170,252 ANb,732
01 AXSHMBAELS 164,520 170,252 ANB,732
O=) SZEe gsE2x XN 164,520
Zojel 2xxel XNE(=12) 800,496 800,496 0
= 667,080
= 133,416
308 KX SHHSOI&E 800,496 800,496 0
= 667,080
& 133,416
01 AXSHMBLAELTS 800,496 800,496 0
OXOHC!l =XLXtel KA 800,496
= 667,080
= 133,416
ZHOHQ!l LBrE UXiel(=21) 2,348,976 2,348,976 0
= 1,957,480
= 391,496
308 KHXISHH SOl 2,348,976 2,348,976 0
= 1,957,480
& 391,496
01 AXSHMBLAELTS 2,348,976 2,348,976 0
OFOHe!l ety LRtel K& 2,348,976
= 1,957,480
= 391,496
2 AIZLEOHQl QHOFAL THA(=21) 361,771 361,771 0
= 344,544
= 17,227
308 KX SHH SOl 361,771 361,771 0
= 344,544
& 17,227
01 AXSHMBLAELTS 361,771 361,771 0
OAIZZ O QI CHOFAF TIHA 361,771
= 344,544
= 17,227
ZOHOI MASEHOIAIE XJ(=21) 158,500 148,438 10,062
= 63,400




A ZZ2E0H Dt
A=A A
510

|
ol MONQIMEOIE o THE X (S5 #9)

A" G(3) - MPAY - B Ofl &t e HIDE2

= 95,100

307 SIZ2t0I A 158,500 148,438 10,062
= 63,400
& 95,100

10 ALRISEXAIEHE2IHIEX 158,500 148,438 10,062
OFHCIMAS EHIHAIE 29 158,500
= 63,400
= 95,100

ZOHQ! MASEIHAIE 43t X& 58,500 58,500 0

201 LB 3,500 3,500 0

01 At 22l Hl 3,500 3,500 0
QXIS BHIIEX B 3,500

307 2IZ2t0I A 55,000 55,000 0

10 AL S XAIEHE2IHIEX 55,000 55,000 0
OOl MAZE EHOHAIE OtHE IS KA 55,000

Fojeldzgd (=) 25,624,214 26,748,271 AN1,124,057
= 22,705,000
= 2,919,214

308 XXM SO0l 25,624,214 26,748,271 AN1,124,057
= 22,705,000
& 2,919,214

01 AXHMBLAEES 25,624,214 26,748,271 1,124,057
oOFeIAz XI& 25,624,214
= 22,705,000
= 2,919,214

JIzME-ZX HoixY XS (=1) 3,537,676 4,211,083 AB73,407
= 3,134,650
= 403,026

308 XXM SO0l 3,537,676 4,211,083 A673,407
= 3,134,650
= 403,026

01 AXHMBLAEES 3,537,676 4,211,083 AB73,407
oOFM=< XNS(II=x) 3,537,676
= 3,134,650
= 403,026

Iae o< X=(=212) 3,331,873 3,702,624 A370,751
= 2,952,293
= 379,580

308 KX SHH SOl 3,331,873 3,702,624 A370,751
= 2,952,293
= 379,580

01 AXHMBLAELTS 3,331,873 3,702,624 A370,751
OZOM+E (Xta<) 3,331,873
= 2,952,293




A ZZ2E0H Dt
A=A A
510

|
ol MONQIMEOIE o THE X (S5 #9)

- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2

| = 379,580

ool elzdl X (=1) 832,650 934,500 A 101,850
= 793,000
= 39,650

308 K XISHH SOl 832,650 934,500 A101,850
= 793,000
& 39,650

01 IXEHBAEES 832,650 934,500 A 101,850
OFOel ofzHl K& 832,650
=l 793,000
= 39,650

ool XEEH XA (=1) 2,645 29,400 N26,755
= 2,519
= 126

308 K XISHH SOl 2,645 29,400 N26,755
= 2,519
& 126

01 IXEHBAEES 2,645 29,400 N26,755
OXOHC! XtH8HH] K& 2,645
= 2,519
= 126

ool SEXHH(21) 39,086 39,086 0
= 32,572
= 6,514

308 KHXISHHSOI&E 39,086 39,086 0
= 32,572
& 6,514

01 IXEHBAEES 39,086 39,086 0
OZ0e SEXCH X3 39,086
= 32,572
= 6,514

O HEEXRIR WEA(=1) 76,650 66,709 9,941
= 73,000
= 3,650

308 KX SHH SOl 76,650 66,709 9,941
= 73,000
& 3,650

01 IXEHBAEES 76,650 66,709 9,941
OXOHUEZRD |2 K& 76,650
= 73,000
= 3,650

HOHOISIHEXAAISE (=) 2,700,230 2,237,801 462,429
= 2,380,636
= 319,59

307 SIZt0I A 481,414 0 481,414
= 336,990




A ZZ2E0H Dt
A=A A
510

|
ol mONQIMEOIE U THEXY (= RED

_ _ _ PoRE]
SA - FHM . (3H) - NRAY - B Off At o om‘@o% HR=2
= 44,408
10 AISIEXAIEEHES2YHIEX 481,414 0 481,414
O&OOIIIEZ A=FXA ALY 481,414
= 336,990
= 144,424
308 AHXIEHSOIA 2,218,816 2,237,801 A 18,985
= 2,043,646
°c 175,170
01 MIXISHEBALEXZ 2,218,816 2,237,801 A 18,985
OYUSTHEMEIA HIRH AIY 2,201,566
= 2,027,758
== 173,808
OHULE X IR At 17,250
= 15,888
== 1,362
AP OISTHE XIBMEH 29 7,500 7,000 500
308 AHXISHISOI A 7,500 7,000 500
01 AIXISHBAEXZS 7,500 7,000 500
OAIES OlSMEXSHE 29 7,500
A EOHC!I DIAFE R0 X AFS 40,000 40,000 0
307 QI2H0| & 40,000 40,000 0
11 A EXAIEEX 40,000 40,000 0
O AR JIAIE 0| X 40,000
SRRl AES A0 XKAAIS (=Z1) 116,465 126,577 A10,112
= 108,320
°c 8,145
308 AHXISHISOI A 116,465 126,577 A 10,112
= 108,320
== 8,145
01 AIXISHHAEAEXS 116,465 126,577 A 10,112
OYLE I HEusA ATEIHIE A& 6,300
= 6,000
°c 300
oYL HEZ=A AHIA K& 27,216
= 25,920
°c 1,296
OYEHIMC 22 Ale|aty HHlA X 40,128
= 36,960
°c 3,168
OYETC IIE sS4 X 42,821
= 39,440
°c 3,381
ZHORQIAIHA & AbSIE 012 CH 369,940 392,575 ~22,635
=2 107,800
°c 262, 140




SA:

204t

I‘Iil-l: II’OHO|EX| }\ltHE O/\-I( |.9/|EI|/_'_|Ot)1| Ilo_j)
CHol: FONQIAINA o A Of2HCH (= RED
&4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
ZOHQ! QIZHERH A 39,400 34,600 4,800
307 @12tol & 39,400 34,600 4,800
AR SAAIE 22X 39,400 34,600 4,800
OLAT SO0 (=3B HHE EE) 12,000
OZHel &tits MEZ 9,000
OZAsotE=0I03 4,000
o= XZolad JISHA 7,200
OZE=XNHIMASAU= 7,200
F0e =0=ESAY 10,000 10,000 0
308 AFAIHHSOI& 10,000 10,000 0
01 HIXSHMBSEXS 10,000 10,000 0
oFMHe SHHAHUZ 10,000
FoHera O & 80,500 70,500 10,000
201 224l 4,500 4,500 0
01 Ab=22keldl 4,500 4,500 0
OHOMA=SKICH A&t 4,500
307 el2tol & 26,000 46,000 220,000
1AL ST A E & 26,000 26,000 0
oFoeld IS A 26,000
308 AFAIHMSOIH 50,000 20,000 30,000
01 IXHMBSELS 50,000 20,000 30,000
OusA 30,000
OgEHM NEeH 20,000
JO0e Ar2IE =W =& 23,000 27,800 4,800
307 212t01 & 23,000 27,800 4,800
AR S XIAIE 2 23,000 27,800 24,800
OXXFMe 22U =< 8,000
oFoel Jisdlta XA 15,000
HEZOHR WA (=1) 76,000 34,020 41,980
= 70,000
T 6,000
308 AtXIEHMSOIH 76,000 34,020 41,980
= 70,000
T 6,000
01 HIXSHMBSEXS 76,000 34,020 41,980
ocldze w=sX 76,000
= 70,000
T 6,000
e ZOHQ SMHIS XA (21) 41,040 56,240 215,200
= 37,800




2A:
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(==l I

ek

204t

ZOHI=EX AEE
ZOHQAINA X AL2 &0 =HCH

S (ARSI /HAAHSKIE)

EERED

- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
= 3,240
308 Xt XIEHHIS Ol & 41,040 56,240 A 15,200
= 37,800
S 3,240
01 HIXHMBSELS 41,040 56,240 215,200
Oud&e sdbls XA 41,040
= 37,800
= 3,240
ZIHH A =X SN 100,000 100,000 0
308 AFAIHMSOIH 100,000 100,000 0
01 HIXHMBSEXS 100,000 100,000 0
O H Mt A& EL 29 50,000
OXIHMHES S&3t M 50,000
HHSAAU(FZFHOID)(IIEH/IIE) 34, 190 35,200 £1,010
Jl=gl 34,190 35,200 A1,010
EA2E Jl=&H] 34,190 35,200 A1,010
201 et gl 22,310 22,500 A190
01 At 22l 22,190 22,380 A190
OFM2E ARl 22,190
02 524l 120 120 0
OFM=2g 55293t 120
202 04Hl 7,680 8,500 A820
01 =W A 7,680 8,500 A820
OFM2E =UHY 7,680
203 Y R=4Y| 4,200 4,200 0
04 FANEEHBRFAY 4,200 4,200 0
©302! Olat 350,000& 122 4,200




